) AVEIN

ABAHTIIMOL

OPENIRAPBAR

Mndpa Open Trap Bar
GR

(Odnyieg 2Zuvapuohoynong | Assembly Instructions)

dredi[E  MdaBe nepiocdTEPa yia TO
_.;--dj:"-;_ :  Opyavo okavapovtag 10 QR

i R i
G Learn more by scanning

'Ortou untapyet AMILA,

ITEM NO.: 46108 YNAPXOYN NIKHTEL.



™

AV

ABAHTIIMOL

WORLD

H Amila npwtonopei otnv ayopd twv NPOIGVIWY YUUVACTKAS,
aBAnuopou kai uegias, NpooPépovtas Névia Kavotdpes NUOEIS
nou avtanokpivovtal oe kaBe oou avdykn. Me pia eupeia ykdua
npoidviwy, eyyudtal uynin noidtnta kai agioniotia.

H 6éopeuon pas eival va napéxoupe e€onniopd Kal unnpeaies
nou NPodyouv TNV Uyeid, T GUOIKA KAtdotaon Kal tnv euegia,
IKOVOMOIMVTAs TS OUYXPOVES AMaAITNOEIS TS ayopds.

Ye npookanoUpe va yivels pélos ts duvapikns kal
apooiwpévns kovetntas s Amilal Qs kopugaios npopnBeuths
0OpYAvWV YUPVAOTIKAS, €iNaote €0 yia va o€ Unootnpi€oupe Kkal
va polpactoupe noAUupo neplexdpevo nou Ba o weeANoEl.

Avakdnuye évav véo KOOPO YUPVAOTKNS Kal VEEias pe tnv
Amila, oto web kai ta social media!

Eipaote €6 yia va o€ epnvelooUpE pe OUPPOUNES,
NPOMNOVNOEIS KAl VEX NPoiovia.

Tuvbéoou pe tnv Amila kat
{noe v epretpla g
YUHVAOTIKAG OTIWG TIOTE
AAAOTE.

Connect with Amila and
experience fithess like
never before.

o]

-
L}

A

E.

Amila, is a pioneer in fitness, sports and wellness equip-
ment, always offering innovative solutions that meet
your every need. With a wide range of products, it can
guarantee high quality and reliability.

Our commitment is to provide equipment and services
that promote health, fitness and wellness, meeting
modern demand.

We invite you to become a member of the dynamic and
dedicated Amila community! As a leading supplier of
fitness equipment, we are here to give you support and
share with you valuable content that will benefit you.

Discover with Amila a new world of fitness and well-
ness, on the web and social media!

We are here to inspire you by offering advice, training
ideas and new products.

@dimitra.akavalou

=400
i

=
‘l

amilaworld.gr
koAwg NpBeg atov kaapio g AMILA
welcome to the world of AMILA



A\ TTPOEIAOINOIHXEIYX ALOAAEIAY A

Mpoopietat yia xpnon anoé atopa nAikiag 18 twv Kat avow.

Mnv agpnvete ta nadid va naifouv Kovta n va aAAnAognidpouv pe To npoiov.

Aev gival naxvidl. ®ulagte 1o pakpld and naidid kat katoikidia dwa.

Xpnaogonoteite autd to Npoidv povo yia tov NpoBAENSEVO 0KOMNO Tou.

H akatdAAnAn xpnon autoU Tou npoi6vtog eviéxetal va éxel wg anotéAeopa oofapod Tpaupatiopd h
UAIKEG {NUIEG.

Autd 10 npoiodv npénel va cuvappoAoynBei anod évav evhAika akoAouBwvtag TG napexdpeveg odnyieg.
BeBalwbeite 611 0Aeg o1 Bideg kal Ta e§aptnpata sival KaAd o@rypéva npiv and tn xpnon.
TonoBetnote 1o Npoidv o eninedbn, otabepn Kal opl{OvTia eMPAVELD yia va Ano@UYETE TNV avatponn
N TNV JETaKivnon Kata m xpnon.

EAéy€te o npoidv kat 6Aa ta e€apthpata npiv anod v Npwtn xpnon yia va BePaiwbeite 611 dev undp-
Xouv e€aptNpata nou €xouv unootei {npid n Asinouyv.

Mnv xpnaotonoleite To Npoidv yia tnv anoBnkeuon AAAWY QVTIKEIPEVWV N QVTIKEIPEVWY MOU Oev €xouv
oxedlaotel yla Xxpnaon pe auto To npoiov.

Katavépete opoldpoppa 1o BApog ato Npoidv yia va ano@UYETE TNV avatponn n tnv actdbela.

Mnv akoUWNATe, OKAPPAAWVETE N CMPWXVETE TO NPOIGV Yld va anoQUYETE TNV avatponn.
EnmBewpeite takTika to npoidv yia onpdadia Bopdg, okouptdg n {npidg o e€aptnpata 6nwg YNoulo-
via h otnpiyuata.

AvTIKaTaotNote auEowG TUXOV KATEOTPAMMEVA e€aptnata e e§apTNPATa EYKEKPIPEVA and Tov Kata-
OKEUAOTA.

KaBapidete 1o npoidv pe €va uypd navi kat Anio anoppunavtiko. Mnv xpnotyonoleite okAnpa kabapi-
OTIKG N dlaAUTEG.

AnoBnkelote 10 NPOIGV 0€ E0WTEPIKO XwWPO o€ Enpd Kat Spooepd PEPOG yia va anoPUYETE TN OKOU-
p1a N tnv unoBabpion tou UAIKoU.

Mnv ekBEtete 10 Npoidv oe ewtepIkEG oUVBNKeG, uypaaia n akpaieg Beppokpacieg, KaBwG auto pno-
pei va anobuvapwaoel ta UNIKA.

Xpnolgonotnote 1o NPoidv oe NPAVELEG NOU €xouv oxeblaotel yia va aviéxouv 1o BApog Tou npoid-
VTOG Kal Tou poptiou tou. E€etdote 10 evbexopevo xpnhang NpootateuTikoU danédou yla tnv anou-
yn {npiwv oto danebdo.

EnBewpnote 1o npoidv yla Tuxdv aixunpég akpeg nou Ba pnopoloav va NPOoKAAECOUV TPAUKMATIONO
Kal ENIKOIVWVNOTE HE TOV KATAoKeUaotn, eav BpeBoulv.

Mot€ pnv apnvete oto £€6agog ta BApn Nou XPNOIUOMOIE(TE, HNOPEL VA OKOVIAYETE Kal VA XTUMNOETE.
Eniong, pnv ta tonoBeteite o€ pdgla, Kivbuvog Ntwaong Kat (paupatiopod.

Agpnote andotaon Touldxiotov 1 pétpou Petagu tou npoidvtog autoU Kat onoloudnnote otabepou avti-
KEIMEVOU N ToIXOU.

KaBapiote 1o npoiodv pe éva vwnd navi, evoeXouévwg Kat Je €va nnio kaBaploTiko yia nio enigovoug
Aek€deg. Mnv xpnaiponoleite okAnpd kabaplotika, xAwpto, apwvia n dlaAutikd. Meta tnv doknon va
okouni{ete Tov 16pwWTa Nou €xel NECEL OTO NPOIGV yiati o 16pwTag £xel S1aBPWTIKEG IBIOTNTEG.
EAéyxete TaKTiKG OTL OAEG o1 Bideg ival KaAG oQLypéVeg.

EAéyxete TaKTika T Npoidv yia pBopég Kal, av dianiotwaoete NnpoPAna, PNV T0 XpNOIUONOINCETE NPO-
10U 10 €l EIOIKEUPEVOG TEXVIKOG.

Na popdte aveta poUxa, 0xt Opwg unepPoAika xaAapd nou pnopei va pnepdeutouv/paykwBouv. [iat-
TEpWG NPOoEETE Ta Hakpld Kopdovia Twv pouxwy, KaBwg Kal To nou Ba BaAete tnv Netota oag.

Mn popdte koounpata kat AAa afecoudp nou evdéxetat va NiaotoUv Kal va TPAUHATIOTEITE.

Na @opdte aBAntikd nanoutoia. Wnhotdkouva, yoBeg, oavdahia, enionpa nanoutola h yupvd nédia
dev evdeikvuvtal, undpxel peyaiog kivduvog tpaupatiopou. Lei€te KaAd ta Kopddvia Twv Nanoutolwy
oag Kat jadéyte ta unepPoAikd pHakpld kopdovia.



ANAAYTIKO 2XEAIATPAMMA ZYNAPMOAOIHZHZ

AILTA EZEAPTHMATON

# |TMX MNMEPIFPA®H # |TMX MEPITPA®H
1| 1 [Kupiwg okeletog 9 4 [AAevéBidba M8x25

2| 2 [Néda 10 4 |[AAevopBiba M10x30

3| 2 |[Ynoboxeic diokwv 11 8 [AAevoBiba M10x75

4| 2 [XepoUhia 12| 24 |Pobéha 10

5| 4 [TpiBeig 13| 4 |KapnUAn podéia 10

6| 4 [Kandkia 14| 16 |Na&uadt aopaleiagM10
7| 2 |[Aaocuxdkia 15[ 2 |MNAdka otepéwaong

8| 4 [Bida pe tetpdywvo Aaipo M10x75




Bnua lo

14 ~ | M10*75
10# N M10%*30
12# 10

134 10

144 M10

114 & M10*75 Tuy.: 8
124 10 Tux.: 16
@,

144 M10  [Tux.:18




AXKHZEIZ MPOOEPMANXZHX

‘Eva owoto6 npoypappa doknong anoteAeital anod npoBéppavan, agpofikn doknon Kat xaAdpwon. Ekte-
A€0Te 10 NPOYPAMKa 0To oUVOAS Tou 2 n, npotiddtepa, 3 popéG tnv efOopada, xaAapwvovtag pia npé-
pa avdpeoa. Metd and pepikoUg Pnveg Ba pnopeite va aunoete Tn GUXVOTNTA TWV AOKNOEWY 0AG O€ 4
n 5 popég tnv eBdopdda. H npoBépuavon eival éva factkd Koppdt tou npoypdupatog kat dev Ba npénel
va tnv napaleinete. Mpogtolpadel 10 CwPa 0ag yla Mo KOUPAoTIKEG AOKNOELG WE To va Beppaivel Kat bi-
ateivel Toug PUEG oag, au€avovtag tnv KUKAo@opia Tou alpatog Kal tov Kapdiakd pubuo Kal atéAvovtag
neploaotepo o§Uyovo 0ToUG HUEG 0aG. EnavalaBete autég Ti¢ aoKNOELG 0TO TEAOG TOU MPOYPAKHaTog yid
va PEIWOETE 010 eAaxioto duvato npoBAnpata PUikwy NovVwy. Lag NPoTteivoule TIg akOAouBEeg aoKNOEIG:

1. Téviwpa tetpaképalwyv: Me 10 Se€i xEpl oTNPIXTEITE OTOV
T0ix0 evw Auyilete 10 aploTePO NGdI NPoC Ta Niow Kat 10 Kpa-
Tdte pe 1o dMo xépt. Mpoonabnate va Auyioete To N6dL 600 ne-
plo00TEPO Unopeite. Meivete otn B€on autn yia 15 deutepohe-
nta. EnavaAdBete yia to 6e€i nodu.

2.’Aoknon npooaywywv: KaBiote katw padevovtag ta no-
dla ynpootd, éxovtag Auyioel ta ydvata Kat evavovtag TG na-
ToU0eq. Enelta e TouG ayKwveg NIECTE Ta yovata npog to natw-
ua. EkteAéote 15 enavahnyelg.

3. ’Ayytypa ota Saxtula tou nodtou: Auyiote tn péon ol-
Ya-olyd npog ta gunpog £xoviag eAa@pwg AUylopéva Ta
yovata Kal Je Ta Xépla 0ag va Teivouv va nidoouv Tg Ju-
1€¢ TwV nodlwv oag. Meivete otnv B€on autn yia 15 deu-
TEpOAenTa.

4.’Aoknon Siképalwv (nodiwv): Kabnote éxovtag to Oe-
€l nod1 teviwpévo Pnpootd Kat 10 aplotePo Padedévo e To NEA-
Ha Tou va KoA\del oto 6e€l nodl. LkUyte Pnpootd npoonabw-
vtag va nidoete ta 6axTula Tou teviwpévou nodlou. Ekteéote
15 enavaAnyelg. Zekoupaoteite yia Alyo kat enavaAdpete pe 1o
aMo nodt teviwévo.

5. Alaraon Aapou (PoAdpiopa Kepaliot): Kcivete 1o Kega-
Atnpog ta 6e€1d viwBovtag tn didotacn tng AoknNaong otnv aplote-
pn nAeupd tou Aaipou. Enetta ekteAéote and tnv avtiBetn nAeu-
pa. L10 TéA0G pite To KEPAAL e pia enavaAnyn npog td EUnpog
Kal hla Npog ta niow.

6. Avaonkwpa Npwv: Inkwote tov defl wyo 600 no Kovta
pnopeite waote va nAnolddel to auti oag. Enetta ekteAéote tnv ibla

doknaon We Tov aplotepo wio. H kivnon tng doknong Ba npénet
va yivetal og apyo pubuo.

7. Awvataon AxiAAelou Tévovta: H doknon autn yivetal pe
BonBela toixou, Tov onoio Médete We ta xépla oag. To Se€i nodi
gival Auylopévo oTo yovato Kal To aplotePOd TEVIWHEVO NPog Td
7 niow, ta néApata kat twv duo Nodiwv epantépeva Pe 1o £€6apog.
‘Eneita enavaAdBete tnv doknon avtiBeta.
8. Awdaraon MAgupwv: BaAte ta xépla otnv avataon Kat npoona-
Bnote Pe To aplotepd XEPL TEVIWHEVO VA TO AVACNKWOETE 000 MLo
WNAQ PNopEiTe, WOTE va VIWOETE T0 TPABNyHa otnv aplotepn oag

nAeupd. EnavaldBete kat yia to 6e€l xép.




/A WARNINGS A m

« Intended for use by individuals aged 18 years and older.

« Do not allow children to play near or interact.

» Not a toy. Keep out of reach of children and pets.

« Use this product only for its intended purpose.

« Improper use of this product may result in serious injury or damage to property.

» This product must be assembled by an adult following the provided instructions.

« Ensure all bolts and components are securely tightened before use.

« Place the product on a flat, stable, and level surface to prevent tipping or movement during use.

« Inspect the product and all components before first use to ensure no parts are damaged or missing.

Do not use the product to store other items or objects not designed for use with this product.

« Distribute weight evenly on the product to prevent tipping or instability.

« Do not lean on, climb, or push against the product to avoid tipping.

« Inspect the product regularly for signs of wear, rust, or damage to components such as bolts or sup-
ports.

 Replace any damaged parts immediately with manufacturer-approved components.

« Clean the product with a damp cloth and mild detergent. Do not use abrasive cleaners or solvents.

« Store the product indoors in a dry, cool place to prevent rust or material degradation.

« Do not use expose the product to outdoor conditions, moisture, or extreme temperatures, as this may
weaken the materials.

» Use on surfaces designed to support its weight and load. Consider using floor protection to prevent
damage to flooring.

« Inspect the product for any sharp edges that could cause injury, and contact the manufacturer if found.

» Never leave the weights you use on the ground, you may trip and hurt yourself. Furthermore, never
place them on shelves, there is high risk of them falling, thus resulting in injury.

« Please make sure that there is a safety area of at least 1 meter wide around the device.

o Clean this product with a damp cloth, possibly with a mild cleaner for more stubborn stains. Do not
use harsh cleaners, chlorine, ammonia or solvents. After exercise, wipe off any sweat that has fallen
on the product because sweat has corrosive properties.

» Regularly check that all bolts and nuts are tight.

 Regularly check the product for wear and tear and, if you find a problem, do not use it until it has been
inspected by a qualified technician.

» Wear comfortable clothes, but not too loose, as they can get tangled. Pay particular attention to long
cords and where you place your towel.

» Do not wear any jewelry or other accessories that might get caught, risk of injury.

» Wear proper athletic shoes. High heels, dress shoes, sandals or bare feet are not suitable. Tighten the
shoelaces securely and place any long ends inside your shoes.



m EXPLODED DIAGRAM

PARTS LIST
# |PCS DESCRIPTION # |PCS DESCRIPTION
1[ 1 |Mainframe 91 4 |Allen bolt M8x25
2| 2 |Footframe 10| 4 |Allen bolt M10x30
3| 2 |Plate support 11| 8 |Allen bolt M10x75
4| 2 [Handle 12| 24 |Washer 10
5| 4 |Bushing 13| 4 |Arcwasher 10
6| 4 |Endcap 14] 16 |Lock nut M10
7| 2 |Rubber buffer 15| 2 |Splint
8| 4 |Square neck bolt M10x75




Step 1

8#

10#

12#

13#

14#

M4 | o M10*75|Qty:8
12# 10 Qty:16
14# @ M10  Qty:8




WARM-UP EXERCISES

A proper workout consists of warm-up, aerobic exercise and relaxation. Repeat the program 2 or, pref-
erably, 3 times a week, relaxing one day in between. After a few months you will be able to increase the
frequency of your workouts to 4 or 5 times per week. Warming up should be a key part of your exer-
cise, something not to be missed. It prepares your body for more strenuous exercises by warming and
stretching your muscles, increasing blood circulation and heart rate and sending more oxygen to your
muscles. Repeat these exercises after your workout to minimize muscle soreness. We suggest the fol-
lowing exercises:

1. Quadriceps stretch: Lean against the wall using your
1 right hand while bending your left leg backwards and hold-

ing it with the other hand. Try to bend the leg as much as

you can. Hold this position for 15 seconds. Repeat for the

right leg.

2. Adductor exercise: Sit down pulling your feet towards

you, knees bent and the soles pressed together. Then use

your elbows to press your knees towards the floor. Perform

15 repetitions.

3. Touch the toes: Bend your waist slowly forward with

your knees slightly bent and your hands trying to grip the
toes. Hold this position for 15 seconds.

4. Biceps exercise: Sit with your right leg outstretched
towards the front and the left one tucked in with the sole
touching the right leg. Lean forward trying to grab the toes
of the outstretched foot. Perform 15 repetitions. Rest for a
while and repeat with the other leg outstretched.

5. Neck stretching (Head rolling): Tilt your head to the right,
feeling the stretching of the left side of the neck. Then tilt your
head towards the other side. Finally, tilt the head once forward
and once backwards.

6. Shoulder lift: Raise your right shoulder as close as you can
to your ear. Repeat with the left shoulder. This exercise should
be performed at a slow pace.

7. Tension of the Achilles tendon: This exercise is performed
by leaning on a wall, which you press with your hands. The right
foot should be bent at the knee and the left one stretched back-
wards, the soles of both feet touching the ground. Repeat the ex-
ercise by reversing the feet.

8. Side stretching: Stretch your hands upwards and try to lift
your left outstretched hand as high as possible, so that you feel
your left side being pulled. Repeat for the right hand.




& WEB amiby @- - — - -

Eipaote npwtonodpor otov enayyeApatiko Kai
€PAOITEXVIKO aBANTIoNO, PE 10Xxupd brands,
Kalvotdpes npotdoels & euéniktes NUOEIS AyopmV.

-—-@® & BLOG

Meive evnpepwp€vos yia véa
npoidvta, tn owoth ToUs Xphon
kal diagopa tips yUpw an’ o
Xpo tou fitness

We are pioneers in the field of commercial and
amateur sports, with strong brands, innovative
proposals & flexible solutions.

Stay informed about new
products, their correct use and
various tips about fitness.

SPORTS

¢J' TikTok

Aes eknaibeutkd Bivieo nou Ba
papnéouv tnv Nnpocoxn cou
kal Ba o€ evBouaidoouv pe
YPNYOPES Kal anoteAEOPATIKES
NPOMNOVNOEIS.

Instagram. @ - —

Avakdnuye évav véo kbopo
YUPVaOUKAS Kal Uegias pe
PWTOYPaPies Kal Pivieo, e

oupPounés, aoknaels Kkai
€unveuon!

Bpes pas oto TikTok avalntivias
10 dvopa xphotn @AmilaFitness
Kal Nathote to Koupni

" AkodouBnog”.

Avalhtnoe 1o évopa xphaotn
@amila.gr kar nathote o koupni
" AkoflouBnoe”.

Explore instructional videos
which will grab your attention
and excite you with quick but
effective workouts.

Discover a new world about fitness
and wellness, with photos, videos,

ideas, exercises and inspiration!
Find us on TikTok by searching
the @AmilaFitness user name
and pressing the “Follow”
button.

Search for the @amila.gr user
name and press the “Follow”
button.

®

AN “"““mm
NKITEL.

AMILA

i

|
@€ YouTube ‘ -

Eniokéyou to kavdani pas oto YouTube kai 6es avadutkd

|
fvieo napouaciaons opydvwy YUPVAOTUKAS, NPOMNOVACEIS
P o o etoriale & ‘ 3 facebook

kal tutorials ano tous €1dikoUs pas.

Matnoe 1o koupni “Eyypa®n” kal 1o Kapnavak yia va AvaptoUpe kaBnpepivé pwtoypapies kai Bivieo pe
EVNUEPMVECE Yia KAOe véo Bivieo. oupPounés kal aoknoels. Molpdoou pe ¢iflous tv
€UNEIPIA KAl TN yVMON NOU 0oU NPOCPEPOUV Ol E1SIKOI

Visit our YouTube channel and find video presentations of Tou Xxwpou.

fitness equipment, workouts and tutorials by specialists. Mnes otn oefida pas oto Facebook kai namnoe “Mou

Press the “Subscribe” button and then the bell in order to apéoer” kai “AxoflouBnoe”.

be notified about every new video.

1[m]
iy

E_ We post photos and videos with advice and workouts.
Tl Share the experience and knowledge offered by experts
'_:!' with your friends.

Visit our Facebook page and press “Like” and “Follow".

- i

-
|
i

[=]
T

amilaworld.gr
LNeg otov koapo g AMILA
enter the world of AMILA



Where there is AMILA,

THERE ARE WINNERS.

™

AN [1 1AV

SPORTS

sport
Aiavépetal ané Tnv EAAIKO ZIMOP MON. A.E.E. Distributed by ELDICO SPORT SA
EAPA: Kaoodvdpag 30, 10447 Abnva (Botavikég) HQ: 30 Kassandras Str., 10447 Athens (Votanikos)
TnA.: +30 2103478279, Fax: +30 2103450168 Tel.: +30 2103478279, Fax: +30 2103450168
YI/MA: 8o xAu. ©eo/vikng - ABrvag, 57400 Zivdog Branch: 8Km Thessaloniki - Athens, 57400 Sindos
TnA.: +30 2310570037, Fax: +30 2310796958 Tel.: +30 2310570037, Fax: +30 2310796958

eMail: support@eldico.gr | Site: www.eldico.gr




